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cos 0] cos?6 — sin’0

__sinf _
= cosf = tanfd = R.H.S. gfaRiey
_1+sinf cosf
(2) LHS. = cosf 1+ sin6
: 2
:(1+sm9)2+cosﬂ (LCM & ™)

cosf(1 + sinh)

_1+ sin®@ + 2sin 0 + cos*6
COSQ(l —|—sm9)

[ sin’0 + cos’0 = 1]

_ 14142sing _ 2(1+sind)
cosf(1+sinf)  cosf(1 +sinb)
—_2 =2sec = R.H.S
cos 6
31AT
27. (1) (cosec A —sin A)(sec A — cos A) = m

3

(2) 3 sec50 = cosec(d — 36°) FgT 50 TP =IFPIV ¢ Al

6 &1 H SId DI 3
SN :

(1) L.H.S. =(cosec A —sin A)(sec A — cos A)
= <si&A —sin A><ﬁ — cos A>

_ <1 — sin2A)<1 — coszA>
~\ sind cos A

cosQA/sin2A> _sinAcos4

sin A \ cos 4 1
= IRACOSE [ 1 = sin’A + cosA]
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1 o 1
sin’ A + cos’A sin’ A + cos’A
sin Acos A sin Acos A
1

sin?A cos?A
sinAcosA  sinAcosA
1 1

sind , cosA  tanA + cot A
cosA ' sinA

=R.H.S.

(2) feam g-
sec50 = cosec(f — 36°)
= cosec(90° — 50) = cosec(d — 36°)
[ cosec(90° — 0) = sec)|

= 90° —50 =60 —36°
= 50 +60 =90° + 36°
= 60 =126°

_ 126 _ o
= 0 = 6 =21
31c: 0 =21°

(1) 3Rk g A(2,5) 3R g B @l felr drel @ravs

&1 7y fawg P(—1,2) &, a1 fig B & Fdane ama
BT

(2) fo=gail P(—3,4) T Q(4,5) Bl SilgH dlet WARAUS Bl
FHEHIRT bR dTel famgail o Fidene sid B

3+3=6
JR
(1) 9T 875 B(z, 1) 2 3R f&ar mn g, P #7ed fog 1
P(-1, 2)
A(Q, 5) B(l’p y1)
719 —2+m
TR, —1="5
-2 :2+I1 '-I1:—4
o e, ~3tu
4 =5+uy Lp=—1
aa: fo=g B(—4, - 1)

(2) a1 & A(m,91) 3R B(22,y2) ariee fmg & <t f{wgati
P(—3,4) 3R Q(4,5) P SIS dTel WIRATS Pl FHLIHTIA
&R ¢

P A B Q
(73, 4) ('rl’ yl) (.1'2, Z/Q) (47 5)

A1 fh, PA =AB=QB==x
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AQ =z4+z=2zx
PB =z+2x=2x

PA _z _ 1 _ ..
AQ 2z 2 =1:2
3k PB _ 2z _ 2 _ .
BQ z 1 =2:1

ara: famg A, PQ @1 1:2 & UM § T fomg B, PQ &I

2:1 & U o IR et @ g & forg,

g Ix@+2x(=3) _4-6 _ -2
L= 1+2 =73 T3
_1x(5)+2x(4) 548 13
o= 2+1 -3 T3

oA ¥ Faie <—%?>

fig B & forg,
_24)+1(=3) _8-3 _5
=T -3 73
_2(5)+1(4) _10+4 _14
2=7F1T T3 T3

) (514

.Béﬁﬁéﬁﬂiﬁ(g,?>

. - L(_213\(514
3 A 9T B & fAceria sHen: <73 3><3 3>%|
29. A TE MBI H ABC T B 21 IS ﬁ—D —g ar g

HINY DE|| BC 6
A
D FE
B C
3R :
AD _ AF
fear g, AB ~AC
AB _AC
o AD T AE
1 gel H 1 "HeM W,
AB _AC _
a Ap = ap !
AB— AD AC—- AF
AD o AFE
BD _ EC
AD — AE
AD _ AE
BD ~ EC

2

29.
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B c

3¥T: Uep Il bl YoTI3i AB W& AC @ DE A9 U
F R et 21

f4g @1 g- DE|| BC

- D | ST aTelt Wb 3T @1 DF @i
SUURI-AM % @1 DE 411 BC & [9=R &l g a1 D
H BIPR ST dTell T 3 @l DF 9o BC' & FH=R ¢l

i DF || BC
3T JMURYST STUTHIT T ¥,
40 :}% (1)
ifep e garm @
40 :g—g (2)
FHY. (1) TAT (2) P SRER A W,
AF _ AE
FC EC
ST el § 1 Sied R,
%H gngl
AF+ FC _ AE+ EC
FC EC
AC _ AC
FC EC
FC =EC

U 9 & WA § S F T E QI fevg e g, i
DF td DE wwurcht @ g1 ea: DE|| BC  sfifrey

3Yar

amgpfa #, AB 3R CD & ga &t Q Sfan g, St B W
vforess @l §1 Rig BT 5 L AEC=1 (am CXA
GRT Pvg IR FdRT DIV + T9 DYB gRT g W 3R
PIvT) Bl 6

A B
N %
D
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S _ . sqﬁ:AAEC:%(aTqCXAmémmaﬂ—crﬁmv I
fea18-AB T CD v g0 Hl A SN €, S B W wfkresg + ¥ DYB gRI g R J=Rd Pl
ECaciRd
Rig oo 8- £ AEC = 5 (9 CXA §R1 &5 R IR 30, free qReqRal de & A6 9 9o ST SIRvi- 6
P01 + T DYB TR 3R PIoT X
WW _ ) s | 20-30 | 30-40 | 40-50 | 50-60 | 60-70
@ - AC, BC W& BD & fyed g s & | 4 0% 19 20 6
SUURI- AB W@ CD g &1 Q1 Sfiai] g1 il B R ufesg F=
IRt Bl IR :
UTHIG | BT Hl 6Ear | AEgHE « frx
(f)
X 20-30 4 25 100
30-40 28 35 980
E 40-50 42 45 1890
A B
v 50-60 20 55 1100
D 60-70 6 65 390
& ST & fh U 919 GRT g & e W SR DI, g %f = 100 fr = 4460
& A 9T & ot TR AN DIV BT QAT | _ .
BESA e 8 me X =2 60y 6) g
Tq CXA, Fg W £ AOC TG A9 9T R £ ABC 3raRd >f 100
Rl B TgT A 31reh IRTERAT 42 g (40-50) 6t &
L ZAOC =22 ABC (1) 3Fe: 1 =40, f=42, £=20, h=10, f=28
s bR, £ BOD =2/ BCD .(2) el aga?ﬁ:l-FQﬁ;ﬁxh
TfER (1) T (2) B A W, A=b—F
B 4044228
2AO0C+ £BOD =2(£ABC+ £BCD) ...(3) 2(42) — 28 — 20
gt a1 afgepior, aRe fIuRid Hivi & I & SRR Far
_ 14
gafes s CEB H, 14
:40+% X 10
ZAEC = ZABC+ Z BCD ..(4)
iR (3) @ (4) 9, =40+50 = 40+389
ZAOC+ £BOD =2Z£AEC SEeid = 43.89
> ZABC = 3(£A0C+ £ BOD) sq:  anfe 9gem = 43.89 o

LopUoog
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